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#include <stdio.h>

int main() {
int a 5, b = 3;
int ¢
int d =

return 0;

++a << 2 * (b++ / 2);
(a %= 4, b += a++ << 1);
printf("%d %d %d %d", a, b, c, d);
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#tinclude <stdio.h>
#define F(x, y) x + 2 * y

int main() {
int n1 = F(1, 2);
int n2 = F(2, 3) * F(3, 1);
printf("%d", nl + n2);
return 0;

5. B C Z=I9s Ade v =9 d3E 245k 2. [6pts]

#include <stdio.h>
#include <string.h>

int main() {
char stri[20] "BLIS";
char str2[20] "KOREA";
char str3[20] = "University";
strncpy(str3, strl, 3);
strcat(strl, str2);

if(strcmp(strl, str2) > 0)
printf("%s", strl);
else
printf("%s", str3);
return 0;

6. o= C Z2ads AP o =9 4= 2dskA 2. [10pts]

#include<stdio.h>

int f(int x, int y)

{
if (x == 09)
return y;
return f(x / 3, y *2) + f(x / 4, y * 3);
}

int main(){
printf("%d",f(11, 3));
return 0;
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#include <stdio.h>

void f(int arr[])

{ int tmp = arr[0];
arr[@] = arr[2] + 3;
arr[1] = --tmp;
}
int main()
{ int a[5] = {1, 3, 5,};
for (int 1 = 0; i < 3; i++)
{
f(a + 1i);
}
for (int 1 = 0; 1 < 5; i++)
{ printf("%d ", a[i]);
}
return 0;
}
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#include <stdio.h>

int main() {
int n = 3, tmp;

while(--n){
tmp = 1;
for(int 1 = 1; 1 <= n; i++){
int tmp = 1 + n;
if(tmp % 2 || tmp-- < 3)
tmp *=3;
printf("%d ", tmp);
}
tmp++;
printf("%d\n", tmp);
}
return O;
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#include <stdio.h>
#tdefine SIZE 3

void f(int arr[SIZE][SIZE])

{
for (int 1 = 0; i < SIZE; i++)
{
for (int j = @; j < SIZE; j++)
{
if (i == j)
arr[i][j] += 1 + J;
else if (i + j == SIZE - 1)
arr[i][J] -= 1 + J;
}
}
}

int main()
{
int arr[SIZE][SIZE];
for (int i = 0; i < SIZE; i++)
{
for (int j = @; j < SIZE; j++)

{
arr[i][j] =1 * 1 + J;
}
}
f(arr);
for (int 1 = 0; i < 3; i++)
{
for (int j = 1; j < 3; Jj++)
{
printf("%d ", arr[j][SIZE -
}
}
return 0;

i-1]);
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1

(ex1l. s1 = “Korea”, s2 = “Yonsei” => 1)

(ex2. s1 = “Yonsei”, s2 = “Korea” => 1)

#include <stdio.h>

char s1[20], s2[20];
int lendiff(char *s1, char *s2)

{

¥

int main()

{
scanf("%s %s", sl, s2);
printf("length difference is %d", lendiff(sl, s2));
return 0;
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(ex. {1, 2, 3,5,4,4,7, 3, 2,3 =>3)

#include <stdio.h>
#tdefine LEN 10
int mode(int *arr)

{

}

int main()
{
int arr[LEN];
for (int i = @0; 1 < LEN; i++)
scanf("%d", &arr[i]);
printf("mode is %d", mode(arr));
return 0;




